Income Taxation Outline Spring 2001          Professor Stevens

Overview

I.
Tax Code

A.
Income tax is a relatively recent development; first introduced in 1913

B.
The code is a progressive tax system, meaning that the actual rate of taxation is higher when your income is higher


C.
Tax code is used to effectuate social policy (e.g., home ownership)

D.
Tax provisions are often structured the way that they are so the tax code is easier to administer for the IRS

II.
Judicial Process and the Tax Court


A.
If the IRS decides that you owe tax, then there is a deficiency


B.
Two choices for challenging a deficiency (choice determines the court):



1.
Choose not to pay the tax(go to the tax court


a.
Centered in D.C.


b.
19 judges that travel around the country to hear cases

2.
If you choose to pay the tax first(go to Federal District Court or Federal Claims Court

C.
Decisions by an individual tax judge are reviewed by the Chief Judge and he decides whether or not all 19 judges should review the decision



1.
Reviewed decisions carry more weight for precedential purposes

2.
Appeals from tax court decisions are in the Court of Appeals in the state in which you live

D.
Golson v. Commissioner: announced that the tax court would follow precedent on appeal of the circuit in which the appeal is taken


E.
Other reasons to go to tax court or district court:



1.
Tax court has the expertise in the tax arena

2.
Sympathetic facts, but adverse law(you probably want to go to district court so you can have a trial by jury

Chapter 1: Introduction to Federal Income Taxation

I.
Overview


A.
Gross Income:

1.
§ 61(a): “Except as otherwise provided in this subtitle, gross income means all income from whatever source derived, including (but not limited to) the following items” [items 1-15 listed]

a.
“this subtitle”: refers to subtitle A of title 26 of the United States Code; subtitle A includes all income tax provisions beginning with § 1 and ending with § 1563.

b.
Items specifically included in gross income are listed in Part II, starting with § 71 and ending with § 86

c.
Items specifically excluded from gross income are listed in Part III, starting with § 101



2.
Regulations:

a.
§ 1.61-1(a): Gross income means all income from whatever source derived, unless excluded by law.  Gross income includes income realized in any form, whether in money property or services.

b.
§ 1.61-2 (a)(1): Wages, salaries, commissions paid salesmen, compensation for services on the basis of a percentage of profits, tips, bonuses, severance pay…are income to the recipient unless excluded by law.

c.
§ 1.61-2(d)(1): Except as provided in (d)(6)(I), if services are paid for in property, the fmv of the property taken in payment must be included as income in compensation.  If services are paid for in exchange for other services, the fair market value of such other services taken in payment must be included in income as compensation.

d.
§ 1.61-6(a): Gain realized on the sale or exchange of property is included in gross income…


B.
Deductions

1.
Most deductions reflect the notion that our tax system permits a deduction for the costs incurred in producing income.

2.
Deduction provisions are generally construed rather narrowly and you must fond a specific provision in the code that authorizes the deduction


a.
§§ 161-198: Itemized Deductions for Individuals and Corp.


b.
§§ 211-221: Allowable Deductions to Individuals


c.
§§ 261-280: Items not Deductible

3.
§ 162 is the basic business deductions provision [keep in mind that this is not an exclusive list]

**Lot of case law regarding deductions, b/c of the temptation to consider personal          expenses as business expenses

4.
§167 & §168: allowed as depreciation (cost recovery) deduction a reasonable allowance for the exhaustion, wear and tear of property used in a trade or business and property used in the production of income

a.
Generally we look at a table to tell us the cost recovery schedule for a piece of machinery

b.
Certain expenses such as machinery and equipment must be capitalized [which means that the expense must be spread over a period of years



5.
Regulations for Deductions:

a.
§1.262-1(b)(5): …The taxpayer’s costs of commuting to his place of business or employment are personal expenses and do not qualify as deductible expenses (also lists other examples that are not deductions)
II.
Problems

A.
Mr. Taxpayer is a financial consultant who owns and operates a business.  He and his wife, a law student, use the cash method of accounting and report their income on a calendar year basis.  The following is in regard to their financial affairs during the current calendar year (Gross income):

1.
Mr. T received $25,000 in cash and $120,000 in checks as consulting fees from clients during the year.

a.
[§ 61(a)(1) & (2), compensation for services, including fees, commissions, and fringe benefits, and similar items; gross income derived from business.]

2.
A client paid for $1,000 of consulting services by painting the house of Mr. T’s mother.


a.
[§ 61(a)(1) and § 1.61-1(a)]

b.
Policy: we don’t want people to be able to avoid taxes by bartering for services, we also want to avoid shifting and assigning of income

3.
Mr. T was owed $15,000 at the end of the year from clients.

a.
Not income b/c Mr. T is a cash basis taxpayer, SO he has not actually received the money

b.
Caveat: constructive receipt doctrine says that you cannot arbitrarily move income to another year; SO if someone offers to pay you and you try to defer it until next year, it will be included under the doctrine of constructive receipt as income for this year

c.
Caveat: accrual method accounting reports income when you fully perform the services, whereas with cash method you report it when it is received.

11.
Mr. T purchased stock two years ago for $5,000.  At the end of last year, the stock had a fair market value of $8,000.  This year, Mr. T sold the stock for $10,000.

a.
Realization: tax the stock when it is sold rather than when it goes up in value; when it is sold a capital gain is realized; later we will see that we characterize it as a capital gain b/c capital gains get a lower tax rate

b.
§ 61(a)(3): gains derived from dealings in property

c.
Looking at the net gain in this case ($10,000-$5,000); whereas in all other areas of gross income we are looking at gross receipts

9.
Mr. and Mrs. T own the home in which they live with their two children.  They could rent the home for $500/month.

a.
Imputed income: tax code does not tax people for imputed income (e.g., value of their own labor in mowing the lawn)

b.
Policy for NOT taxing imputed income:

i.
Tough to administer such a system


ii.
Would be extremely unpopular among taxpayers


**Total Gross Income for Mr. T: (1+2+11) = $151,000

B.
Deductions: deductions are generally construed rather narrowly and you must find a specific provision in the code that authorizes the deduction

4.
Mr. T paid rent of $500/month for office space, paid $10,000 in wages to an office assistant, and $5,000 for office supplies.

a.
§ 162(a):there shall be allowed as a deduction all the ordinary and necessary business expenses paid or incurred during the taxable year in carrying on business, including-


i.
salaries or other compensation for personal services;

ii.
traveling expenses while away from home in pursuit of a trade or business; and

iii.
rentals or other payments required to be made as a condition to the continued use or possession, for purposes of the business…

b.
SO, Mr. T is allowed a deduction of $6,000 for the rental on the office space for the year, $10,000 for wages, and $5,000 for office supplies

5.
Mr. T purchased some equipment this year.  The equipment costs $20,000 and Mr. T expects to use the equipment for five years.

a.
Each year there will be a $4,000 deduction for the equipment

6.
Mr. T commutes by bus the ten miles from his home to the office each day.  He spent $500 on bus fares this year.

a.
No deduction; § 262 provides that except as otherwise expressly provided in this chapter, no deduction shall be allowed for personal, living, or family expenses.

b.
§ 1.262-1(b)(5): …The taxpayer’s costs of commuting to his place of business or employment are personal expenses and do not qualify as deductible expenses (also lists other examples that are not deductions)

7.
Mr. T paid $1,000 for a one-year subscription to a newsletter on stock market trends.

a.
§ 162 is the workhorse for business expenses, we can’t locate anything in this section so look somewhere else

b.
Personal expenses under § 262 says that the deduction must be listed in this chapter [§ 1- § 1561]

c.
Mr. T may cite § 212 as authority, expenses for the production of income [this will probably not work b/c        § 212 is usually cited for rental expenses, expenses for tax preparation, and production or collection of income]



8.
Mrs. T paid $10,000 in law school tuition this year.

a.
Argument for: this is an ordinary and necessary business expense; SO FAR this is a losing argument b/c you are preparing for a new trade or business, this is NOT an expense for a current business expense

10.
$6,000 of mortgage payments throughout the year, $4,000 of which is interest payments

a.
§162 only allows deductions for business expense; §262 specifically states that there shall be no deduction for personal, living, or family expenses UNLESS you can find a specific provision of the code that allows it.

b.
§163(a) G/R: There shall be allowed as a deduction all interest paid or accrued within the taxable year on indebtedness

c.
§163(h)(1): no deduction shall be allowed under this chapter for personal interest paid or accrued during the taxable year

d.
§163(h)(2): the term personal interest means any interest allowable as a deduction under this chapter other than A-F.

[A-F are not personal interest and are therefore are defined by exclusion]; specifically §163(h)(2)(D) is qualified residence interest.

e.
SO, back to §163(a): under this provision we are allowed a deduction of $4,000 for the mortgage interest



12.
Mr. and Mrs. T contributed $1,800 during the year to their church.

a.
§170 allows a deduction for any charitable contribution made during the taxable year.  Subsection (c) defines charitable contribution for purposes of this section.

b.
§170 (b) provides for limitations of charitable deductions; specifically the contribution shall be allowed to the extent that the aggregate of such contributions does not exceed 50 percent of the taxpayer’s contribution base for the taxable year.

III.
Above and Below the Line Deductions

A.
Adjusted Gross Income: AGI is equal to the gross income - above the line deductions [In the problem, Mr. T had above the line deductions totaling $25,000 (Office rental ($6,000), wages ($10,000), equipment depreciation ($4,000), and office supplies ($5,000))]

AGI = $151,000 - $25,000 = $126,000

1.
Above the Line Deductions: the G/R is that business expenses are above the line deductions, whereas personal expenses (the ones that are specifically permitted in the code) are below the line deductions)

a.
§ 62(a) G/R: the term adjusted gross income means, in the case of an individual, gross income minus the following deductions (this means that the deductions listed in this section are above the line deductions)

b.
Most taxpayers prefer to characterize something as an above the line deduction b/c then they can take the above the line deduction and the standardized deduction, therefore maximizing the tax benefit


B.
Below the Line Deductions:[Itemized v. Standard Deduction]



1.
Itemized Deduction
a.
§63(a): applies to people who do not choose the standard deduction but instead choose to itemize their deductions

b.
Limits for Itemized Deductions:

i.
Charitable contributions under § 170 (b)(1)(A): charitable contribution shall be allowed to the extent that the contribution does not exceed 50 percent of the taxpayer’s AGI [essentially a 50% ceiling on charitable deductions]

ii.
§ 67: 2-percent floor for miscellaneous itemized deductions [once again this is a definition by exclusion, if they are not listed under (b), they are miscellaneous itemized deductions]

(A)
You can only deduct the excess over 2% of AGI, if you do not get to 2%, you cannot take a deduction

(B)
In the problem, the AGI is $126,000.  2% of $126,000 is equal to $2,520.  Since the newsletter is the only miscellaneous deduction ($1,000), we cannot deduct it since it does not meet the 2% floor.

iii.
§ 68: Overall Limitation on Itemized Deductions

(A)
G/R: In the case of an individual whose adjusted gross income exceeds the applicable amount, the amount of the itemized deduction shall be reduced by the lesser of- (1) 3 percent of the adjusted gross income over the applicable amount, or (2) 80 percent of the amount of the itemized deductions otherwise allowable


(B)
Applicable amount: means $100,000


(C)
3% of $26,000 in this case is $780




*Note the section 68 is applied after applying section 67

2.
Standard Deduction:


a.
§ 63(b): people who choose to take the standard deduction

b.
§ 63(c)(2): the basic standard deductions for different categories of taxpayers [these figures are adjusted yearly for inflation]

i.
In this case the standard deduction for Mr. and Mrs. T is $5,000 [§ 63(c)(2)(A)]

3.
Standard v. Itemized Deduction:




a.
Standard deduction = $5,000

b.
Itemized deduction: interest on mortgage ($4,000) + state income tax ($2,600) + real property taxes ($1,000) + charitable contributions ($1,800) - 3% limitation on itemized deductions ($780) = $8,620

c.
Clearly Mr. and Mrs. T should choose to itemize their deductions since the itemized deduction is $3,620 greater than the standard deduction.

IV.
Personal Exemptions


A.
§ 151: Allowance of deductions for personal exemptions

1.
§ 151(a): Allowance of deductions for the individual taxpayer in computing taxable income

2.
§ 151(b): An exemption for the taxpayer and his spouse; in other words each taxpayer gets to claim an exemption under this section so you start out with two exemptions

a.
§ 151(c): An exemption for the exemption amount for each dependent as defined in section 152

i.
Exemption amount: the term exemption amount means $2,000 [§ 151(d)(1)]

ii.
In this problem the taxpayer has two dependent children.  Each taxpayer gets an exemption for each child so we have a total of 4 exemptions [4 exemptions X $2,000 = $8,000]

3.
Phaseout: Under § 151(d)(3) you can actually totally phaseout any exemptions once you get to a total AGI of $275,000

a.
§ 151(d)(3)(A): In the case of any taxpayer whose AGI exceeds the threshold amount, the exemption amount shall be reduced by the applicable percentage.

b.
§ 151(d)(3)(B): Applicable percentage means 2 percentage points for each $2,500 by which the taxpayer’s AGI exceeds the threshold amount.

c.
§ 151(d)(3)(C): Threshold amount means $150,000 in the case of a joint return…

V.
Taxable Income and Tax Rate:

A.
Taxable Income:
Gross Income ($151,000)

- Deductions Above the Line (§ 62(a)) ($25,000) 

Adjusted Gross Income ($126,000)
- Standardized Deductions or Itemized Deductions (Itemized Deductions = those not listed in § 62(a), otherwise known as below the line deductions) ($8,620)

- Personal Exemptions (§151) ($8,000)
Taxable Income ($109,380)


B.
Tax Rate (§ 1)

1.
§1(a): Married individuals filing joint returns and surviving spouses [SEE Table on pg. 14 of the Supplement for tax rates]

2.
Special Tax on Capital Gain in selling stock for $5,000 [§1(h)(1)(C)](20% tax on $5,000 = $1,000, SO taxable income is now $104,380.

3.
Problem: Over $89,1250 but not over $140,000


a.
$20,165, plus 31% of the excess over $89,150 = $24,886


b.
Total Tax = $24,886 + $1,000 = $25,886

c.
Where does the $20,165 come from in the tax table?(Take 15% of $36,900 = ($5,535) + 28% of ($89,150 - $36,900) = ($14,630)


i.
$5,535 + $14,630 = $20,165

VI.
Credits [Code Sections 21-53]

A.
§ 31: Tax withheld on wages (most common type of credit); the amount withheld under chapter 24 shall be allowed to the recipient of the income as a credit against the tax imposed by this subtitle

B.
§ 25A: Lifetime Learning Credit (phases out for joint returns at $100,000)

1.
§ 25A(c)(1): The Lifetime Learning Credit for any taxpayer for any taxable year is the amount equal to 20 percent of tuition and expenses paid by the taxpayer in the taxable year as does not exceed $10,000.

C.
§ 24: Child Tax Credit((a) There shall be allowed as a credit against the tax imposed by this chapter for the taxable year with respect to each qualifying child of the taxpayer an amount equal to $500.

1.
§ 24(b): limitation based on adjusted gross income, credit shall be reduced $50 for each $1,000 that the taxpayer’s AGI exceeds the threshold amount.

2.
Threshold amount: $110,000 for joint return, $75,000 for an individual not married, $55,000 for a married individual filing a separate return.


D.
Credit v. Deduction (which is better for the taxpayer)

1.
Credit is better b/c it reduces your tax dollar for dollar, whereas a deduction reduces your tax by a percentage of the dollar.

2.
Example: Assume you have $21,000 of income, the tax is 15%.  Compare a $1,000 deduction to a $1,000 dollar tax credit.  The tax on $21,000 at 15% = $3,150



Deduction of $1,000: 15% tax on $20,000 = $3,000


Credit of $1,000: 15% tax on $21,000 = $3,150 - $1,000 credit = $2,150

3.
SO, with the deduction, the taxpayer only saves $150 whereas with the credit the taxpayer saves $1,000.

Chapter 2: Gross Income Concepts and Limitations

I.
Overview


A.
Definition of Income

1.
§ 61(a): Except as otherwise provided in this subtitle, gross income means all income from whatever source derived, including (but not limited to) the following items (e.g., wages, salaries, rents, dividends, and interest)

2.
Arguably, § 61(a) was never intended by Congress to be the exclusive definition of income, but is rather little more than a description of a necessary step in a mathematical formula for computing “taxable income.”  Thus, in defining gross income in    § 61, Congress was merely describing the first step in the calculations of adjusted gross income and taxable income.

3.
Eisner v. Macomber: “The gain derived from capital, from labor, or from both combined, provided it be understand to include profit gained through a sale or conversion of capital assets.” [this definition is not meant to provide a touchstone to all future gross income questions]

4.
For a variety of policy reasons, Congress has specifically excluded certain items from gross income.  One of the most important provisions is § 102, which excludes gifts and bequests.



B.
Income Realized in Any Form:
1.
Regulation § 1.61-1(a): Gross income may be realized in any form, whether money, property, or services.

2.
Regulation § 1.61-2(d)(1): If services are paid for in property, the fair market value of the property is the measure of the compensation; if paid for in the form of services, the value of the services received is the amount of compensation.

3.
Fair Market Value: the price a willing buyer would pay a willing seller, with neither under a compulsion to buy or sell, and both having reasonable knowledge of the relevant facts.



C.
Realization, Imputed Income, and Bargain Purchases
1.
Realization requirement: We do not tax mere appreciation in property, rather the appreciation must be actually realized, such as through a sale of stock that has appreciated in value (not a Constitutional requirement, Cottage Savings)

a.
Policy against taxing appreciation: (1) Measuring the appreciation in all property of every taxpayer over every year would present enormous administrative problems for the taxpayer and the IRS, and (2) It would be fundamentally unfair to treat unrealized gains as income b/c taxpayers might well lack the cash to pay resulting taxes and might thus be forced to sell assets.

b.
Policy in favor of taxing appreciation: (1) Taxing each year’s appreciation would more nearly match tax income and economic income, thus placing persons who are similarly economically situated on the same tax footing, and (2) the realization requirement discourages the sale of property b/c each year’s appreciation is taxed in one lump sum.

2.
Imputed Income: Imputed income entails such income that might be derived from self-help activities, such as mowing the lawn, repairing a leaky pipe, or from the use of one’s own property.  However, imputed income is not taxed.

3.
Bargain Purchases: A bargain purchase does not constitute income.  However, the bargain purchase must generally be the result of a n arm’s length transaction.  Where special relationships such as employer/employee are present, problems may arise.


II.
Cases and Revenue Rulings


A.
Commissioner v. Glenshaw Glass
1.
Facts: Glenshaw Glass received a settlement of $327,529 for punitive damages due to fraud and antitrust violations on the part of a competitor.

2.
Issue: Whether money received as punitive damages in a fraud and antitrust suit must be reported by the taxpayer as gross income.

3.
Holding: The intention of Congress was to tax all gains except those specifically exempted in the code.  In this case we have undeniable accessions to wealth, clearly realized, and over which the taxpayers have complete dominion.


4.
Elements of the Glenshaw TEST:



a.
Accession to wealth;




b.
Clearly realized; and




c.
Complete dominion and control over the funds


B.
Cesarini v. United States

1.
Facts: In 1964, while cleaning the piano, plaintiffs discovered the sum of $4,467 in old currency.  The P’s reported the money as income on their tax return.  In 1965, the P’s filed an amended return, this second return eliminating the money found in the piano from the gross income computation and requesting a refund of $836.

2.
Issue: Whether treasure trove is included in gross income.

3.
Holding: Court says that the treasure trove is income [§ 1.61-14…Treasure trove, to the extent of its value in United States currency, constitutes gross income for the taxable year in which it is reduced to undisputed possession].  The court used state law to determine when possession occurred.  In this state, possession begins when the money is found.

4.
Important Note regarding Revenue Rulings: Binding internally on the tax courts and the IRS, BUT the courts can disregard them or adjust the view of the Revenue Ruling.


C.
Old Colony Trust Company v. Commissioner
1.
Facts: American Woolen Company paid income taxes for Mr. Wood for the years 1919 and 1920.

2.
Issue: Did the payment by the employer of the income taxes assessable against the employee constitute additional taxable income to such employee.

3.
Holding: This was additional income to Mr. Wood.  The discharge by a third person of an obligation to him is equivalent to receipt by the person taxed.  The analogy to this situation is that if the money had been given directly to Mr. Wood, he would have paid the tax on the additional income.  So, why should it not be income simply b/c he avoided it in this indirect method. 


D.
Pellar v. Commissioner
1.
Facts: The actual cost of construction on a house was substantially in excess of the price fixed by the agreement, the excess being in part due to extras requested by the Pellars.  The contractor agreed to do the work at the agreed upon price in order to enhance the goodwill b/t himself and the father of Pellar.  The contractor was interested in the good will of the father in the hope of securing more business from him in the future.

2.
Issue: Whether the petitioners received income by virtue of the construction of a residence for them where the cost of construction and the fmv ($70,000) of the residence materially exceeded the agreed upon price paid to the contractor ($55,000) for such construction.  Is this $15,000 difference income to the Pellars?

3.
Holding: G/R: The purchase of property for less than the fmv does not, of itself, give rise to the realization of taxable income.

Caveat: This could be considered income if it is not an arm’s length transaction, or the relationship of the parties introduces into the transaction other elements indicating that the transaction is not simply a purchase, but rather is an exchange of other considerations. (e.g., employer/ employee, gift, etc.)

-In this case we do not have a special relationship b/c there is no future obligation b/t the parties.  The contractor did the job for less to stay in good graces with the father, but the father does not have an obligation to send business the contractor’s way in the future.

4.
Remember that the Pellars will be taxed when they sell the property and realize the gain.  Since they took the property at a lower basis, they will have more gain when they sell it.


E.
McCann v. United States:
1.
Facts: McCanns get a trip to Las Vegas and the company pays all the traveling, lodging, and meal expenses.  The wife qualified for the trip by achieving the required increase in sales during the year.

2.
Issue: Whether the McCanns should have included in their income tax return, as part of their gross income, an amount based upon the cost to the company of defraying their travel and other expenses on the trip to Las Vegas.

3.
Holding: Gross income is defined as all income from whatever source derived [§ 61(a)].  Gross income may be realized, therefore in the form of services, meals, accommodations, stock, or other property, as well as in cash [§ 1.61-1(a)].  Also the court holds that this is income b/c it is closely tied to her performance at work, mainly increased sales.  Generally, just about anything related to the employer/employee relationship is regarded as income.

4.
Note: When services are paid for in a form other than money, it is necessary to determine the fair market value of the thing received [See § 1.61-2(d)(1)]


F.
Revenue Ruling 79-24



1.
Facts:

a.
Situation 1: In return for personal legal services performed by a lawyer for a housepainter, the housepainter painted the lawyer’s personal residence.

b.
Situation 2: An individual who owned an apartment building received a work of art created by a professional artist in return for the rent free use of an apartment for six months by the artist.

2.
Law: § 1.61-2(d)(1) provides that if services are paid for other than in money, the fair market value of the property or services taken in payments must be included in income.  If the services were rendered at a stipulated price, such price will be presumed to be the fair market value of the compensation in the absence of evidence to the contrary.

3.
Holdings:

a.
Situation 1: The fmv of the service received by the lawyer and the housepainter are includible in their gross income under § 61.

b.
Situation 2: The fmv of the work of art and the six months fair rental value of the apartment are includible in the gross income of the apartment owner and the artist under § 61.


G.
Revenue Ruling 91-36:

1.
Facts: A utility company reduces the price of electricity for customers who participate in the utility company’s energy conservation program.  The reduction is in the monthly electric bill in the form of either: (1) a reduction in the purchase price of electricity, or (2) a nonrefundable credit against the purchase price of electricity.

2.
Issue: Is the amount of the rate reduction or nonrefundable credit includible in the customer’s gross income.

3.
Law: § 61(a) provides that gross income includes all income from whatever source derived. § 1.61-1(a) provides that unless excluded by law, gross income includes income realized in any form, whether in money, property, or services.

4.
Holding: If a customer of an electric company participates in an energy conservation program for which the customer receives a rate reduction or nonrefundable credit on the customer’s electric bill, the amount of the rate reduction or nonrefundable credit is not includable in the customer’s gross income under § 61.

III.
Problems


A.
Which of the following should be reported as gross income?



1.
Wages of $5/hour(YES [§61(a)(1)]



2.
Tips of $500 from customers(YES [§ 1.61-2(a)]



3.
Cash bonus of $1000(YES [§ 1.61-2(a)]

4.
A wallet containing $150 found in the restaurant(YES [§ 1.61-14(a): Treasure trove constitutes income for the taxable year in which it is reduced to undisputed possession (look to state law on possession issue) & Cesarini]

5.
A $50 rebate on the purchase of a lawnmower(NO, the rebate is simply a reduction in purchase price or bargain purchase

B.
Larry rents his house to Martha, who agrees to pay Larry’s monthly mortgage payment of $300, the annual property taxes on his house of $1,200, the monthly utility bill of $50, and the $40 per month cleaning bill.  What is Larry’s gross income as a result?

1.
If Martha had paid rent directly to Larry, Larry would have rental income under § 61.  So, Larry should have income when this is accomplished indirectly.

2.
Glenshaw Glass: Accessions to wealth are income; Larry was acquiring equity in the house w/o having to pay it.

3.
Old Colony Trust: When you pay someone else’s obligations that is income to that person (it is the relief of those obligations that gives him income)


a.
Mortgage payment(YES


b.
Property taxes(YES

c.
Utility and cleaning bill(these are not necessarily his obligations, BUT if they are kept in his name there is a strong argument that they are his obligations.  Larry may argue that since Martha is receiving the benefits that they should be her obligations.

C.
Suppose Martha builds Larry new kitchen cabinets in the house, and that Larry agrees for two months that Martha need not make the mortgage payments.  Martha spends $100 and 25 hrs on the project.  Any income to Larry?  To Martha?

1.
Larry(YES, in the amount of $600 [G/R: income realized in any form whether in property, money, or services & Glenshaw Glass accession to wealth language supports us too]

a.
Value of the Cabinets for tax($600 (two months mtg.)

i.
Fair market value: price a willing buyer would pay a willing seller, with neither under a compulsion to buy or sell, and both having reasonable knowledge of the relevant facts. 

ii.
§ 1.61-2(d)-If the services are rendered at a stipulated price, such price will be presumed to be the fair market value of the compensation received in absence of evidence to the contrary.

b.
Suppose that you can establish that the cabinets are worth $1000.  Is this additional income to Larry?(NO according to Pellar we must look at the relationship of the parties.  In this problem there are really no facts to indicate a future obligation or a special relationship b/t the two.

D.
Paula, who is Ted’s employer, is asking $100,000 for her home.  Ted offers to pay $80,000 and Paula accepts.  Any gross income?

1.
§ 1.61-2(d)(2)(i): if property is transferred by an employer to an employee…, as compensation for services…, the difference b/t the amount paid for the property and the amount of its fair market value at the time of the transfer is compensation and shall be included in the gross income of the employee.

2.
SO, the key here is whether it was compensation for services.  To know if it is compensation for services we must look at such factors as (1) normal salary, (2) fmv of the property, (3) seller’s situation, etc.

3.
Elements of the employee/employer transfer:


a.
Transfer


b.
Employer to employee


c.
As compensation for services


d.
For an amount less than fair market value

Chapter 3: The Effect of an Obligation to Repay

I.
Overview

A.
Loans: Loans are not gross income.  A loan does not represent an accession to wealth or increase the taxpayer’s net worth b/c the loan proceeds are accompanied by an equal and offsetting liability: the borrower has an obligation to repay the loan, and it this repayment obligation that negates treatment of a loan as income.  A corollary to this rule is that a loan repayment is not a deductible expense.

B.
Claim of Right: North American Oil enunciated the governing standard with regard to claim of right(“If a taxpayer receives earnings under a claim of right and w/o restriction to its disposition, he has received income which he is required to report, even though it still may be claimed that he is not entitled to retain the money, and even though he may still be adjudged liable to restore its equivalent.

1.
Under the claim of right doctrine, if the taxpayer has to repay the money he has received, he is entitles to a deduction.

2.
Also, the taxpayer may never be required to return the money, and under the claim of right doctrine we do not await the resolution of a contingency to decide whether or not the receipt of money was income.

C.
Illegal Income: It has long been clear that gains derived from an illegal business may be taxed.  In addition, repayment of illegal income entitles the taxpayer to a deduction.

D.
Deposits: The regulations explicitly provide that rent paid in advance constitutes gross income in the year that it is received regardless of the period covered or the taxpayer’s method of accounting [§ 1.61-8(b)].  The difficulty is in the treatment of deposits.  This issue really depends on whether the L specifies them as last months rent or whether he traditionally applies the deposits to rent.

II.
Cases:


A.
North American Oil v. Burnet:
1.
Facts: NAO operated a piece of in 1916, the legal title which stood in the name of the United States.  Since the ownership of the property was in dispute, a receiver was appointed to operate the property in 1916.  The money was paid to the receiver as earned in 1916, and after the case was settled in favor of NAO, the 1916 earnings were paid by the receiver to the company in 1917.

2.
Issue: In what year should NAO be taxed for the $172,000.

3.
Holding: NAO must report the income in 1917 b/c that was the year that the court made the final decision as to who had the claim to the money.  In 1916, NAO was not assured of receiving the money, SO they were not required to report the money in 1916.

4.
NAO Argues: Money should be taxed in either 1916 when it was earned or 1922 (b/c 1922 was when the litigation was finally terminated).  Court says no b/c NAO had the earnings w/o restriction on disposition and even if they had been required to pay the money back in 1922, they could have taken a deduction.


B.
Commissioner v. Indianapolis Power and Light:

1.
Facts: IPL was asserted IRS deficiencies, after it required certain customers to make deposits with it to assure certain payment of their electric bills.

2.
Issue: Does a taxpayer receive income if he acquires earnings with an express or implied obligation to repay and has no dominion over their disposition?

3.
Holding: If these deposits are advanced payment for electricity, they must be counted as income now.  Since the IPL customers may insist upon repayment in cash once he has fulfilled his part of the bargain, this is not income when received by the company.  Rather it becomes income to IPL when the deposit is applied to the payment for electricity.

III.
Problems

A.
On December 1, Steve received an annual royalty check for $25,000.  On February 1 of the following year, prior to Steve’s filing of a tax return reporting the royalty check, Steve was informed that an error had been made in calculating the royalty check the previous year.  Rather than $25,000, the royalty check should have been $20,000.  Steve returns $5,000 to the publisher.  For tax purposes, how should Steve report the receipt of the $25,000 and the repayment of the $20,000?


1.
According to NAO Case: Report the $25,000 as income and then report a deduction of $5,000 in the following year.

2.
Why would Steve care about reporting the extra $5,000 in the first year?(B/C it may kick him up to another tax bracket, or the deduction simply may not be of any use to him in the second year.

3.
§ 1341: Lets the taxpayer choose b/t getting a credit for the amount of tax they would have saved for not having the income in the year it was reported, OR taking a deduction when the repayment occurs [the taxpayer will take whichever one gives them the most benefit]

B.
Linda agrees to prepare a market analysis for ABC on July 1, Year 1, for $20,000.  Linda was to deliver the analysis to ABC on January 1, Year 2, at which time the $20,000 was payable to Linda.  Also on July 1, Year 1, ABC loaned Linda $19,000, to be repaid with interest of $1,000 on January 1, Year 2.  On January 1, Year 2, Linda gave her market analysis and a check for $20,000 for repayment of the loan to ABC.  ABC gave Linda a check for $20,000 in payment of her fee.  What tax consequences to Linda in Year 1 and Year 2?

1.
No income for Linda in Year 1 b/c this was simply a loan with an obligation to repay.  The IRS will argue that this is advance payment for her services, but this will likely fail b/c of the transactions in Year 2.

2.
Linda has income of $20,000 for the payment of her fee.  In addition, Linda does not have a deduction for her payment of the $20,000 b/c it is merely repayment of a loan.

3.
Factors that distinguish an advance payment from a loan: 


a.
Interest payments and who keeps them


b.
Security involved in the transaction


c.
Relationship of the parties


d.
Guarantee of keeping the property

C.
Joe is a mechanic for a large car dealership.  Without the permission from the owners, Joe takes a number of expensive tools and pieces of equipment to use in his own private business.  He fails to return the tools and equipment.  What tax consequences to Joe?

1.
§ 1.61-14: Illegal gains constitute gross income.  Joe will argue that the tools are not legally his, SO he is obligated to give them back and he has no income.

2.
This cannot be classified as a loan b/c it is not a consensual obligation.

3.
5th Amendment Argument against self-incrimination: Joe will say that if he reports the income it is self-incriminating.  But the Supreme Court has held that not reporting the income is ridiculous.  You may be able to just give the amount and NOT disclose the source of the income.

D.
Kevin owns homes that he rents to university students.  Kevin requires a security deposit in the amount of the last month’s rent.  The rental agreement specifically states that the deposits are used for: (a) property damage or (b) to cover unpaid rent.  If the T complies with all the terms of the agreement, the agreement requires Kevin to return the deposit.  Kevin does not maintain a separate account for the deposits, nor does he pay interest on the deposits.  Typically, Kevin’s tenants either ask the security deposit to be applied to the last months rent or simply fail to pay the last month’s rent.  In any event, it is rare that Kevin ever actually returns a security deposit.  How would you advise Kevin to treat the security deposits for tax purposes?

1.
§ 1.61-8(b): Gross income includes advance rentals, which must be included in income for the year of receipt.  SO, if the deposit is advance rent, it must be included in income NOW.

2.
According to IPL, the most crucial element is control.  In this problem, the tenant has the ultimate say on what is done with the deposit [complete dominion and control]

3.
J & E Enterprises: “If a sum is received by a lessor at the beginning of a lease, is subject to unfettered control, and is applied as rent for a subsequent period during the term of the lease, such sum is income in the year of receipt even though in certain circumstances a refund thereof may be required.”

IV.
Summary of Chapter 3


A.
Loans are not income b/c you are required to repay them

B.
Receive money, uncertain as to what happens to it in the future [NAO says that you have income, typically regarded as a claim of right]; may be different if the money is in an escrow account and you cannot use it

C.
IPL Case: deposits, the critical factor is who controls whether the money is returned, and the contractual relationship

D.
Illegal gains: treated as income, even though you must return what you gain illegally

Chapter 4: Gains Derived from Dealings in Property

I.
Overview


A.
Gain

1.
§ 1001(a): The gain from the sale or other disposition of property shall be the excess of the amount realized therefrom over the adjusted provided in section 1011 for determining gain

a.
§ 1001(b): The amount realized from the sale or other disposition of property shall be the sum of any money received + the fair market value of the property (other than money) received.

b.
§ 1001(c): the entire amount of gain or loss on the sale or exchange of property shall be recognized (must be included in tax)(which is different from realized b/c sometimes when you realize a gain you don’t recognize it for tax purposes

2.
§ 1011(a): The adjusted basis for determining the gain or loss from the sale or disposition of property, whenever acquired, shall be the basis (determined under section 1012), adjusted as provided in section 1016.

3.
§ 1012: The basis of the property shall be the cost of such property, except as otherwise provided.

4.
§ 1016(a)(1): Proper adjustment in respect of the property shall in all cases be made: (1) for expenditures, receipts, losses, or other items, properly chargeable to capital account

a.
§ 1016 requires a taxpayer to adjust her basis to reflect recovery of investment or any additional investment

b.
§ 1016(a)(2): depreciation decreases your basis in property b/c you are recovering some of the cost

5.
§ 1.61-6(a): Generally, the gain is the excess of the amount realized over the unrecovered cost or other basis for the property sold or exchanged.


B.
Loss:

1.
§ 1001(a): …, and the loss shall be the excess of the adjusted basis provided in such section for determining loss over the amount realized.


C.
Impact of Liabilities

1.
Impact on Basis: computation of the taxpayer’s basis is complicated if property is not paid for in full at the time of receipt.  For example, if the purchaser remains obligated to the seller for part of the purchase price, assumes a liability of the seller, takes the property subject to the liability, or borrows money from a third party to pay the purchase price.

a.
Loans: B/C of an obligation to repay, the taxpayer is entitled to include the amount of the loan in computing his basis in the property [Commissioner v. Tufts].  The loan under section 1012 is part of the taxpayer’s cost of the property.

b.
Recourse v Non-recourse Debt: Recourse debt means that you are personally liable on the debt (the creditor can come after your personal assets).  Non-recourse debt means that there is no personal liability on the debt.  Supreme Court has said, however, that recourse and non-recourse debt should be accorded the same treatment.

c.
G/R: the recourse liabilities assumed by the taxpayer in the acquisition of property are included in the taxpayer’s basis in that property.

2.
Impact on Amount Realized: Determination of the amount realized by the seller is likewise not straightforward when the property sold is encumbered by liabilities for which the purchaser directly or indirectly becomes liable.

1.
G/R: the recourse liabilities of the seller, assumed by the purchaser, are included in the seller’s amount realized


D.
Basis of Property Acquired in Taxable Exchange:

1.
G/R: B/C the value of the property relinquished in an exchange generally equals the value of the property received, a taxpayer engaging in a taxable exchange will have a § 1012 cost basis in the property received equal to the value of the property exchanged.

2.
G/R: If the values of the properties in a taxable exchange are different, then the taxpayer’s cost basis will be equal to the value of the property received.

3.
It is important to note that loss and gain will be distorted if the cost basis of the property received in a taxable exchange is considered to be equal to the fair market value of the property given in an exchange.

II.
Cases


A.
Philadelphia Park Amusement v. U.S.:
1.
Facts: Philadelphia Park Amusement Co. deeded its interest in a bridge to the city in exchange for a ten year extension on a franchise.

2.
Issue: What is Philly’s basis in the 10-year extension.

3.
Holding: G/R-the cost basis of the property received in a taxable exchange is the fair market value of the property received in the exchange.  SO, the basis is the value of the 10-year extension.

Caveat: When you cannot figure out the value of the property received with reasonable certainty, it is presumed that the value of the property received is the same is the property given (SO value of the bridge is the basis in the extension).

**Note that we are using the value of the property in these exchanges, you can only use cost when value cannot be determined with reasonable certainty

III.
Problems

A.
Maggie purchased a vacation home for $100,000, using $15,000 of her own funds and $85,000 borrowed funds.  Five years later, Maggie refinanced the property.  At the time of refinancing, Maggie still owed $75,000 on the original loan.  As part of the refinancing, Maggie borrowed an additional $50,000, thereby increasing her mortgage to $125,000.  Maggie used $40,000 to add a new room to the home; she used the other $10,000 to take a European vacation.  Maggie then sold the home.  The purchaser paid $80,000 in cash, and assumed the $120,000 balance on her mortgage.  What tax consequences to Maggie on the sale?  What basis will the purchaser take in the home?


1.
Introduction to the problem:

a.
When you improve property, you generally increase your basis

b.
Remember the impact of debt on amount realized and basis [even if you borrow all the money to acquire the asset it is treated as basis]--BIG benefit if it is a depreciable asset b/c you get to treat it as basis and start depreciating it immediately, even though you haven’t actually paid for it

c.
G/R: acquisition debt is added to your basis



2.
Basis for Maggie: ar-ab = gain [§ 1001(a)]




a.
Basis: under § 1012, basis = cost

i.
What does this house cost Maggie($100,000 [b/c of the obligation to repay, the taxpayer is entitled to include the amount of the loan in computing his basis in the property (Commissioner v. Tufts)]

ii.
G/R: debt used in acquiring property becomes part of basis [critical that we add only acquisition debt]

b.
Adjustments: § 1016(a)(1) includes capital expenditures such as adding a room to a house [$100,000 + $40,000]

c.
Basis = $140,000



3.
Amount Realized for Maggie: $80,000 + $120,000 = $200,000

a.
G/R: inclusion in amount realized of liabilities of the taxpayer which are assumed by the purchaser

b.
§ 1.1001-2(a): amount realized from the sale or disposition of property includes the amount of liabilities from which the transferor is discharged as a result of the sale or disposition



4.
Gain = ar-ab = $200,000-$140,000 = $60,000



5.
Purchaser’s Basis = $200,000 ($80,000 cash + $120,000 debt)

B.
Clare, a professional artist, owes Dr. Wilson $5,000 for medical services.  To satisfy this obligation, Clare gives one of her paintings to Dr. Wilson.  The painting has a fmv of $5,000.  Doc sells the painting five years later for $10,000.  What are the tax consequences to Doc?  What are the tax consequences to Clare assuming that Clare had invested $100 in the materials used in creating the painting and 25 hours of her time?


1.
Doc Wilson on receipt of the painting: $5,000


2.
Eventual Sale of the painting: ar-ab = $10,000 - $5,000 = $5,000

3.
Tax Cost Basis Rule: If when you receive the property, you have to include something in income, then that is added to your basis

4.
§ 1.61-2(d)(last sentence): If the services are rendered at a stipulated price, such price will be presumed to be the fmv of the compensation received.

5.
Clare Tax Consequences: disposition of property (when giving payment to Doc)( ar-ab = $5,000-$100 = $4,900 gain


C.
Chapter 4 Example:



1.
Joe(George (XYZ stock: ab=$5,000, fmv=$10,000)




George(Joe (ABC stock: ab=$12,500, fmv=$10,000)



2.
Joe Gain($5,000




George Loss($2,500



*On the exchange of the property

3.
Assume that ABC stock has gone down in value to $9,000 before the exchange. (The following discussion applies when property exchanged has a different value.)

a.
What is Joe’s basis when he turns around and sells the ABC stock to another person(his basis is the value of the property received ($9,000)

b.
SO, Joe gains $4,000 on the initial exchange, and gains nor loses anything when he turns around and sells the stock for $9,000 b/c his basis upon disposition is $9,000.

c.
G/R: When you sell something for its value, there should be no gain or loss, therefore the basis is the value of the property received.

IV.
Summary


A.
Gain Test: ar-ab (§ 1001(a))



Loss Test: ab-ar (§ 1001(a))


B.
Basis is essentially unrecovered cost


C.
Capital improvements increase your basis


D.
Depreciation decreases your basis by whatever you deduct


E.
ar = cost + value of property received + discharge of debt

F.
Acquisition debt becomes part of your basis, treated as if you paid the money already

G.
Basis in property received in an exchange of property is the value of what you receive, unless you cannot determine the value of property received w/reasonable certainty

Chapter 5: Gifts, Bequests and Inheritance

I.
Overview


A.
What is excluded by § 102:

1.
Nature of a Gift: Section 102 excludes gifts as well as property acquired through bequest, devise, or inheritance.  A threshold question under § 102 is whether that which is received can be characterized as a gift, bequest, or inheritance.

2.
Motive of the Donor: critical in characterizing receipts as gifts under § 102.  The Supreme Court in Commissioner v. Duberstein, stated, “a gift in the statutory sense…proceeds from a ‘detached and disinterested generosity…out of affection, respect, admiration, charity or like impulses.’  And in this regard the most critical consideration is the transferor’s intention.”

3.
Mainspring of Human Conduct: Decision of the issue in these cases must be based ultimately on the application of the fact-finding tribunal’s experience with the mainsprings of human conduct to the totality of the facts of each case.

4.
§ 102(c)(1): Subsection (a) shall not exclude from gross income any amount transferred by or for an employer, to or for the benefit of, an employee.


B.
Statutory Limitations on the Exclusion-§ 102(b)

1.
The income from property excluded as gift, bequest, devise, or inheritance is not excluded.

a.
Example: X gives Y a share of IBM stock, the value of the stock is excluded from Y’s income but the dividends which IBM distributes to Y are not.

2.
§ 102(b)(2): Denies an exclusion to gifts, whether made during life or at death, of income form property.

a.
Example: Mother dies leaving a portfolio of stocks and bonds in trust for the benefit of her son and her grandchildren.  The trust provides that the Trust Company will manage the portfolio and will distribute all income from the stocks and bonds annually to the son.  When the son dies, the trust will terminate and all of the trust property will be distributed in equal shares to the grandchildren.

b.
Analysis: Net income is to include gains or profits and income derived from any source whatever, including the income from but not the value of the property acquired by the gift, bequest, devise, or inheritance.  Thus the money received by son for life is income (situation presents a life estate in son with remainder to grandchildren).


C.
Basis of Property Received by Gift, Bequest, or Inheritance

1.
§ 1015(a): If the property was acquired by gift, the basis shall be the same as it would have been in the hands of the donor or the last preceding owner by whom it was not acquired by gift/

2.
Exceptions:
a.
If such basis is greater than the fair market value of the property at the time of the gift, then for purposes of determining loss the basis shall be such fair market value.

b.
Elements of § 1015 Exception for Basis:


i.
Testing for loss

ii.
FMV at the time of the gift is less than the donor’s basis

3.
Example: Claude purchases a share of XYZ stock for $200 and gives the stock to Mary when the stock is worth $400 per share.

a.
Mary’s basis will be the same as Claude’s.  Her basis is referred to as transferred basis.  

D.
Basis of Property Received by Bequest or Inheritance:

1.
§ 1014(a): Except as otherwise provided in this section, the basis of the property in the hands of a person acquiring the property from a decedent or to whom the property passed from a decedent shall, if not sold, exchanged, or otherwise disposed of before the decedent’s death by such person, be

a.
§ 1014(a)(1): the fair market value of the property at the date of the decedent’s death

2.
In effect this provision “steps up” or “steps down” the basis of property acquired from a decedent to the fair market value of the property at the time of the decedent’s death.

a.
A devisee receiving a stepped up basis can sell the property for its value as of the decedent’s death and not realize any gain.  By contrast, if property decreased in value during the lifetime of the decedent so that the decedent’s basis exceeded the value of the property, § 1014(a) will negate the loss inherent in the property.

b.
§ 1014(b)(6): makes § 1014 applicable to a surviving spouse’s one-half share of community property “if at least one-half of the whole of the community interest in such property was includable in determining the value of the decedent’s gross estate for federal estate tax purposes.

c.
§ 1014(e): Appreciated property acquired by decedent w/in 1 year of death

i.
If appreciated property was acquired by the decedent by gift during the one year period ending on the date of the decedent’s death, and

ii.
Such property is acquired from the decedent by (or passes from the decedent to) the donor of such property (or the spouse of such donor),

the basis of such property in the hands of such donor or spouse shall be the adjusted basis of such property in the hands of the decedent immediately before the death of the decedent.


E.
Part-Gift, Part-Sale

1.
The sale of property for less than the fair market value is common between family members and even close friends.  Substantively, the transaction involves a sale in part and a gift in part.

2.
§ 1.1001-(e)(1): Where a transfer of land is in part a sale and in part a gift, the transferor has a gain to the extent that the amount realized by him exceeds the adjusted basis in the property.  However, no loss is sustained on such a transfer if the amount realized is less than the basis.

3.
§ 1.1015-4(a): where the transfer of property is in part a sale and in part a gift, the unadjusted basis of the property in the hands of the transferee is the greater of (1) the amount paid by the transferee, or (2) the transferor’s basis at the time of transfer

a.
Loss: in testing for loss, the unadjusted basis of the property in the hands of the transferee shall not be greater than the fair market value of the property at the time of the transfer.

II.
Cases


A.
Commissioner v. Duberstein
1.
Facts: Duberstein was given a “Caddy” by a business associate but did not declare the care as taxable income.  The business associate took a business expense for the “Caddy” in that year.

2.
Issue: Does the intent of the donor determine whether property constitutes a gift, exempting it from taxable income of the donee.

3.
Holding: Although the intent of the gift is an important factor, it is not controlling.  There must be an objective analysis as to whether what is called a gift amounts to it in reality.  A gift in the statutory sense, proceeds from a detached and disinterested generosity, out of affection, respect, admiration, charity or like impulses.  In SUM, we must look at the totality of the circumstances, the main-springs of human conduct.


B.
Wolder v. Commissioner:
1.
Facts: A lawyer agreed to render legal services to a client w/o billing them in exchange for money and stocks bequeathed to him in her will.


2.
Issue: Does an individual receive income when he is bequeathed a substantial sum of money in lieu of payment of services rendered?

3.
Holding: In Duberstein, the Supreme Court held that the true test with respect to gifts was whether the gift was bona fide gift, or simply a method for paying compensation.  The bequest was in effect a delayed payment for services.  Look for prior agreement, intent of the parties, the reasons for the transfer, and the party’s performance in accordance with their intentions.


C.
Goodwin v. U.S.:
1.
Facts: Members of Rev. Goodwin’s congregation began making gifts to him, initially on Christmas and later on three special occasion days each year.  For the tax years 1987-1989, the Goodwins received $15,000 in “special occasion gifts” each year.

2.
Issue: Whether these sums of money were really gifts or were simply compensation for services.

3.
Holding: Objective prospective(the cash payments were gathered by congregation leaders in routinized, highly structured program.  Individual Church members contributed anonymously, and the regularly-scheduled payments were made to Rev. Goodwin on behalf of the whole congregation.  In addition, the congregation knew that w/o these substantial on-going cash payments, the Church likely could not retain the services of a popular and successful minister at the relatively low salary it was paying.

**Common Language: A transfer to be a gift must be the product of detached and disinterested generosity; Note that it is rare that a donor be completely detached and disinterested.

III.
Problems

A.
John was honored at a testimonial dinner held in recognition of his 20th year as head football coach.  At the dinner, John received a check for $10,000 as a result of funds given by his assistant coaches, former players, and other alumni, and local businesses.  Is the $10,000 excludable under § 102(a)?

1.
Distinguish from Goodwin, not a highly structured or routinized payment, transferor’s dominant intent in this case may have been just to show the coach the appreciation for all his years.  In order to argue that it was a gift you must look at the individual donor’s motives.

B.
Caroline received $25,000 for acting as personal representative of her grandfather’s estate.  The will stated: “I direct that my granddaughter, Caroline, be paid $25,000 for acting as personal representative of my estate.  That amount shall be in full satisfaction of any amount otherwise allowable to her under the statutes of this state.”  Under state law, Caroline could not exceed an amount in excess of 4% of her grandfather’s estate.  Caroline paid herself $25,000 as authorized by the will.  Is this excludable under § 102(a)?

1.
Caroline might argue for $10,000 as income (what she receives under the statute) and the other $15,000 as a gift.  Likely this would be held to payment for services.

C.
Bernadette purchased a lot for $5,000.  Three years later the lot increased in value to $15,000, Bernadette was offered $15,000 for the lot, but she refused.  The following year, when the lot was worth approximately the same, B deeded the lot to her son as a graduation gift.  Does B or her son have income on the transfer?  What basis will Rob have in the lot?


1.
Income: Rob(NO b/c it is a gift

B(look at § 1001(a), ar from the sale or other disposition of property; in this case B’s ar = $0; SO no gain; ALSO B has no loss b/c of § 1.001-1(a), the gain or loss realized from the conversion of property into cash or in exchange for other property is income (gift not mentioned)

2.
Basis: § 1015(basis shall be the same as it would be in the hands of the donor or the last preceding owner

a.
Exception: If the donor’s basis is greater than fmv, then for purposes of determining loss, basis shall be the fmv (Rob’s basis is $5,000, same as B’s)

b.
Consequence of taking donor’s basis: donee will get taxed on any increase in the value of the property since the donor first purchased it.

D.
Same as problem 3, except that B is a realtor and her son Rob is one of her sales agents she employs?

1.
SEE § 102(c): when looking at section 102(c), we must consider that the relationship is one of employer/employee and mother/son.  Can she not give her son a gift just b/c she is his employer?

a.
§ 1.102-1(f)(2): Section 102(c) shall not apply to amounts transferred b/t related parties if the purpose of the transfer can be substantially attributed to the familial relationship of the parties and not the circumstances of their employment.

b.
SO, if you can show that the purpose was familial relations, the same consequences as #3, but if not it is income of $15,000 to Rob.

E.
Same facts as #3, except that the lot decreased in value and was worth only $4,000 at the time when Rob received it.  A year later, Rob sold the lot for $3,500.  What are tax consequences to Rob?  What result if he sold the lot for $4,200?


1.
(§ 1001(a) & § 1015(a)): gain = ar>ab, loss = ab>ar(ar is $3,500,

a.
Testing for loss: ab-ar = $4,000 - $3,500 = $500; ab would normally be $5,000, but the exception applies in this case

i.
Exception when testing for loss: (1) the adjusted basis at the time of the gift must be greater than the fmv, and (2) when determining loss, the basis shall be the fair market value.

ii.
Since the ab is greater than the fmv ($5,000> $4,000), and we have determined we are testing for loss (ab>ar), the exception applies here and we use fair market value to test for loss




b.
Testing for Gain: the ar>ab



2.
Sale for $4,200 (ar):




a.
Testing for gain: ar-ab = $4,200 - $5,000 = -$800 (no gain)




b.
Testing for loss: ab-ar = $4,000 -$4,200 = -$200 (no loss)

c.
We have neither gain nor loss; G/R: this will happen anytime the donee sells the property for a price b/t the donor’s adjusted basis at the time of the sale and the fair market value at the received, there will be no gain or loss.

F.
Facts of problem #3, except that instead of giving the lot to Rob, B sold it to him for $7,500.  What are the tax consequences to B and Rob?

1.
Part gift/part sale(gain to B: ar-ab = $7,500 -$5,000 = $2,500 [§ 1.1001-1(e)(1): Where a transfer of property is in part a sale and in part a gift, the transferor has a gain to the extent that the amount realized by him exceeds his adjusted basis in the property.  However, no loss is sustained on such a transfer if the amount realized is less than the adjusted basis.

2.
Tax to Rob: no income, gifts are excluded from income under        § 102 (a)

3.
Basis to Rob: § 1.1015-4, unadjusted basis of the property in the transferee is whichever is greater:


a.
amount paid by the transferee ($7,500)

b.
transferor’s adjusted basis for the property at the time of the transfer ($5,000)

4.
For Testing Loss: the unadjusted basis of the property in the hands of the transferee shall not be greater than the fmv of the property at the time of the transfer [fmv<basis, use fmv for testing loss]

5.
Whenever you have gain for the transferor, you will have cost basis for the transferee (that it is what he paid for the property)

G.
Same facts as #3, except that instead if giving the lot to Rob during her lifetime, B devised it to Rob in her will.  At the time of her death, the lot was worth $15,000.  What basis will Rob take in it?


1.
No income to Rob under § 102(a).

2.
Basis: § 1014(a)(1)($15,000, the basis of property in the hands of a person acquiring the property from a decedent or to whom the property passed from a decedent shall, if not sold, exchanged, or otherwise disposed of before the decedent’s death by such person, be-(1) the fmv of the property at the time of decedent’s death

H.
Same facts as #3, except that Rob was B’s elderly grandfather and that he died w/in 6 months after receiving the lot from B.  His will devised the property to B’s son, Rusty.  What basis will Rusty take?

1.
§ 1014(e): the decedent must live for one year after receiving the gift; if the gift is acquired w/in one year of the decedent’s death, the basis in the property is the basis in the hands of the decedent immediately before death

Chapter 6: Sale of Principal Residence

I.
Overview

A.
Purpose of § 121: trying to encourage home ownership and NOT defer people from moving around; 1034 made people keep buying more expensive homes to avoid gain, which resulted in people having more house than they needed or could afford

B.
Ownership and Use Requirements of § 121: the statute does not require two years of continuos occupancy of a home as one’s principal residence but only periods of such occupancy totaling two years during the five year period

1.
 §121(d)(1): entitles taxpayers filing a joint return to reap the benefits of the exclusion if either spouse meets the ownership and use requirements; furthermore, if an unmarried individual sells or exchanges property subsequent to the death of his or her spouse, the individual’s use and ownership periods for purposes of §121(a) will include the period the deceased spouse owned and used the property [§121(d)(2)]

2.
§121(d)(3)(A): If an individual receives property in a transaction described in §1041 (i.e., a transfer of property b/t spouses or former spouses) that individual’s use and ownership periods for purposes of §121(a) will include the period the deceased spouse owned and used the property.

a.
Under §121(d)(3)(A), the spouse trying to sell to the third person is allowed to tack the use and ownership of the spouse or former spouse

3.
§121(d)(3)(B): If an individual continues to have an ownership interest in a residence but is not living in the residence b/c the individual’s spouse or former spouse is granted use under a divorce or separation instrument, the individual will nonetheless be deemed to use the property during her spouse or former spouse is granted the use of the property.


a.
Under §121(d)(3)(B) you only get to tack for use


C.
Amounts Excludable:

1.
G/R: §121 allows a taxpayer to exclude up to $250,000 of gain.  The exclusion applies to only one sale or exchange every two years [§121(b)(3)]. 

a.
Exception: §121(c): If taxpayers file a joint return, the taxpayers may exclude up to $500,000 of the gain if certain requirements are met.  Those requirements are:

i.
One of the spouses must satisfy the ownership requirements;

ii.
Both spouses must satisfy the use requirements; and

iii.
Neither spouse has used the exclusion w/in the past two years

b.
Under §121, two people who are not married but who jointly owned and used the same home as their principal residence would each be eligible for an exclusion of up to $250,000 of their respective gain, assuming that all other requirements of §121 were satisfied.

2.
If a sale or exchange occurs because of a change in place of employment, health, or certain unforseen circumstances, and a taxpayer therefore fails to meet the ownership and use requirements of a §121(a) or the once-every-two-year rule of §121(b)(3), §121(c) provides that some or all of the gain may still be excluded.  Under §121(c)(1), the exclusion will be limited to a fraction of the $250,000 exclusion which otherwise would have been available.

D.
Principal Residence: (What constitutes a principal residence?)(Look at factors such as (1) the location of the residence vis-à-vis the taxpayer’s principal business location, (2) the amount of time that the taxpayer and the taxpayer’s family spent at the residence, (3) the taxpayer’s involvement in the community, (4) where the taxpayer voted, and (5) where the taxpayer licensed his car.

**Note that the most important factor is the amount of time that the taxpayer spends at the residence.  The property that the taxpayer occupies a majority of the time will ordinarily be considered the taxpayer’s principal residence.

II.
Problems:


A.
Brian and Jen, husband and wife, purchased a home in Denver in 1986 for $225,000 and held title to the home as joint tenants with the right of survivorship.  The home was their principal residence until June, June 1999 when they moved to Idaho and purchased a home for $250,000.  In January of 2000, Brian and Jen sold their Denver home.  The purchaser paid Brian and Jen $400,000 in cash and assumed a $200,000 mortgage which encumbered the property.  Brian and Jen had an adjusted basis in their Denver home of $275,000.

1.
Explain the tax consequences to Brian and Jen on the sale of their Denver home.  Assume that they file a joint tax return for the year.


a.
ar (cash + debt relief) - ab = $600,000 - $275,000 = $375K

i.
§121 Application: (a) taxpayer must have owned and used the property for 2 out of the last five years

ii.
(b)(2): joint returns must meet the ownership and use requirements of (b)(2)--(i) either spouse meets the ownership requirements, (ii) both spouses meet the use requirements/IF SO $500,000 exclusion

2.
Would your answer to (a) change if the title to the Denver home was in the name of Jennifer alone?

a.
NO, b/c either spouse can meet the ownership requirements, and both spouses must meet the use requirements

b.
In this case, Jennifer meets the ownership requirements of §121(d)(2) and both spouses meet the use requirement

3.
Assume that Jennifer had purchased the Denver home in 1986 and met Brian in July of 1998.  B & J lived together in the Denver home from September 1998 until they moved to Idaho (June 1999).  One month prior to the sale of the Denver home (Dec. 1999), J & B were married and, at the time of their wedding, J arranged to have title to the Denver home transferred into both of their names as tenants in common.  How would your answer change to (a), if it all?

a.
ar = $325,000 gain; B & J want to be able to qualify under (b)(2), the problem is the use requirement of 2 out of the last 5 years as a principal residence [Brian does not meet this requirement]

b.
SEE (b)(2)(B): Look at each spouse as an unmarried individual taxpayer(couple filing jointly not meeting requirements of (A), the limitation shall be the sum of their individual exclusions under (1) 

c.
SO, Jennifer gets $250,000 exclusion and Brian gets nothing.  The gain is $325,0000 and the exclusion is $250,000, SO $75,000 included as income.

B.
Assume the facts of Problem 1(a) and that after living in Idaho for one year, Brian and Jennifer sold their home in Idaho and moved to Virginia, where Jennifer had accepted a new job.  Brian and Jennifer realized a gain of $60,000 on their Idaho home.  The sale occurred exactly six months after the sale of their Denver home.  What tax consequences on the sale of the Idaho home?

1.
Could be a (b)(3)(A) problem b/c exclusion only applies to one sale every two years; ALSO they fail under the use and ownership requirements of (b)(2)

2.
§121(c)(2): Subsection (c) shall apply to any sale or exchange by reason of a failure to meet the ownership and use requirements or the one sale every two years requirement, if such sale or exchange is by reason of change in place of employment, health, or, to the extent provided in the regulations unforseen circumstances.

3.
If subsection (c) applies, then the dollar limitation with regard to exclusion amount shall be equal to the ratio of the shorter of (1) the aggregate periods during the last five years such property has been owned and used by the taxpayer as a principal residence, or (2) the period after the date of the most recent sale or exchange by the taxpayer to which subsection (a) applied / 2 years [shorter of (1) & (2) / 2years]

a.
Aggregate periods (1) = 1 year [only lived in Idaho home for one year, then sold it]

b.
Period since the sale of the Denver home (2) = 6 months

c.
Thus, our ratio is 6 months / 2 years = ¼

d.
¼ = x/$500,000 [amount normally excludable for a husband and wife filing a joint return] = $125,000 exclusion, SO B & J can exclude the entire $60,000 of gain from the sale of the Idaho residence

Chapter 9: Discharge of Indebtedness

I.
Overview:

A.
Kerbaugh-Empire Co.: Court concluded the “the mere diminution of loss is not gain, profit, or income.”  G/R: No discharge of indebtedness when the transaction as a whole is a loss.

B.
Kirby Lumber: The Court held that the repayment of corporate debt at less than its face amount constituted income.  The Court’s holding emphasized the fact that the taxpayer was solvent at all relevant times, and that the balance sheet of the taxpayer reflected an increased net worth as a result of the reduction in liabilities w/o a dollar for dollar reduction in assets.

C.
§61(a)(12): gross income includes the income from discharge of indebtedness

D.
Special Rules Governing Exclusion:


1.
Discharge of Indebtedness when the Taxpayer is Insolvent

a.
Example: A, who leases a commercial building from B, is substantially behind in his lease payments.  A is insolvent at the beginning of the year and A and B negotiate a settlement whereby A agrees to pa y B 25% of the lease payments in arrears, while B agrees to cancel the balance of the delinquent payments and to reduce A’s rent in the future in order to keep A as a tenant.  Even after the cancellation, A remains insolvent.



b.
Commissioner argues that the lessee has income.  The Court rejects this argument, comparing the situation to a bankruptcy proceeding where a debtor surrenders property to pay party of his debts and the remainder of the debts are discharged.

c.
Eisner v. Macomber: Discharge of debt did not result in the debtor acquiring something of exchangeable value in addition to what he had before.  There is a reduction or extinguishment of liabilities w/o any increase in assets.  There is an absence of such gain or profit as is required to come w/in the accepted definition of income.

d.
Case like this example have established that if a taxpayer were insolvent before and after the discharge and cancellation of a debt, no income resulted.

e.
Thus, Congress enacted §108, and except as provided in this section, there is “no insolvency exception from the general rule that gross income includes income from the discharge of indebtedness” [§108(e)(1)]

f.
Section 108 specifically provides that the discharge of indebtedness will not generate gross income “if the discharge occurs in a bankruptcy case” or “if the discharge occurs when the taxpayer is insolvent.”  Note that §108(a)(3) limits the insolvency exclusion to “the amount by which the taxpayer is insolvent.”

g.
Relief provided by section 108(a) is not w/o its costs.  Specifically, §108(b) requires that certain tax attributes of the taxpayer be reduced.  Notably, the taxpayer may suffer a reduction in basis in property when the taxpayer qualifies for an exclusion [§108(b)(2)(E)]

h.
§108(a)(1)(D): qualified real property business indebtedness elements: (1) Don’t have to be insolvent to get exclusion, (2) Must be a dealer or broker in land, and (3) Must have enough basis so that all the exclusion can be reflected in a reduction in basis (this is really a deferral)

2.
Purchase-Money Debt Reduction for Solvent Debtors: §108(e)(5) codifies another judicial exclusion related to the discharge of debt.  Assume a taxpayer purchases property agreeing to pay the purchase price to the seller over a period of time.  Subsequent to the purchase, the taxpayer refuses to pay the entire balance of purchase price to the seller b/c of defects in the property.  The parties resolve their dispute by agreeing to a reduction in the balance of the purchase price.

a.
Courts treatment: While it is true that the debt of the taxpayer has been canceled in part, the courts considering such circumstances held that no income resulted but rather 

merely a retroactive reduction in purchase price.

b.
Basis: As a result of the reduction in purchase price, the basis of the taxpayer in the property was correspondingly reduced.


E.
Discharge of Indebtedness as Gift, Compensation, Etc.
1.
Note that it is doubtful that any taxpayer will be successful in arguing the discharge of indebtedness in the commercial context constitutes a gift.

2.
In certain contexts, the cancellation of indebtedness can be an excludable gift.  Thus, if a parent lends money to a child and then subsequently forgives the debt, the forgiveness of the debt would likely be considered a gift excludable under §102(a).

II.
Cases:


A.
United States v. Kirby Lumber:

1.
Facts: Company issues bonds and later that same year they are able to buy the bonds back at an amount lower than the face amount (approx. $137,500 lower).  This may be due to changes in the market or changes in the business, making the bonds less attractive.

2.
Issue: Does the retirement of debt for less than face value represent a taxable gain?

3.
Holding: The company has had an accession to wealth in this case.  The company now has assets that were previously offset by liabilities of repayment, freeing up $138,000 in assets previously offset by debt.


B.
Zarin v. Commissioner:

1.
Facts: Zarin incurred $3.435 million in gambling debts at a New Jersey casino.  After contesting the debt in court, he and the casino settled it for $500,000, and the Tax Commissioner assessed a deficiency based on the difference.

2.
Issue: If a taxpayer, in good faith disputes the amount of the debt, will a subsequent settlement of the dispute be treated as the amount of the debt cognizable for tax purposes.

3.
Holding: Indebtedness means any indebtedness for which the taxpayer is liable.  If the debt is unenforceable (as in the case b/c the gaming commission has issued an order making further extensions of credit to Zarin illegal), the taxpayer cannot be liable. 

a.
Contested Liability Doctrine: If a taxpayer, in good faith, disputes the amount of a debt, a subsequent settlement of the dispute will be treated as the amount of the debt cognizable for tax purposes.  The excess of the original debt over the amount determined to have been due is disregarded for both loss and debt.

b.
With the Contested Liability Doctrine, if a debt is arguably unenforceable, then there is arguably a dispute over the debt

c.
Preslar v. Commissioner: the disputed debt doctrine should only apply when you cannot determine the amount of the debt, SO we would use the amount of the settlement as the original amount of the debt.  This type of unknown debt is referred to as unliquidated debt.

C.
Gehl v. Commissioner:

1.
Facts: Taxpayers by deed in lieu of foreclosure, conveyed 60 acres of farmland to the PCA in partial satisfaction of a debt (basis-$14,000, fmv-$39,000).  Taxpayers also conveyed by deed in lieu an additional 141 acres in partial satisfaction of debt with a fmv of $77,000 and basis of $32,000.  PCA thereupon forgave the remaining $29,412 of the loan.  Taxpayers were insolvent both before and after the transfers.

2.
Issue: Is there taxable gain to the taxpayers with regard to these transfers.

3.
Holding: This is gain b/c the debt is not being forgiven, the land is being used to pay off the debt, SO you have gain on the disposition [ar-ab] even though you are insolvent.  Transfers of land to satisfy a loan should be treated as though the taxpayer received cash from the sale of the land (via the land transfer they were given credit on an outstanding loan).


D.
Merkel v. Commissioner:

1.
Facts: Merkel and Hepburn excluded $359,721 under §108(a)(1)(B) from gross income on the ground that each was insolvent immediately before the income was realized by the partnership.

2.
Issue: Whether the Merkels and the Hepburns may exclude under §108(a)(1)(B) certain income from the discharge of indebtedness (were they insolvent at the time of the discharge)

3.
Holding: Merkels included liabilities in their evaluation of insolvency that were unlikely or uncertain (these were possible prospective liabilities).  The courts says that in order to include a liability in your insolvency measurement it must be more probable than not that you are going to have to pay the debt.

4.
Policy Concerns: (1) Tax policy is based on the immediate ability of the taxpayer to pay the tax.  If your liabilities are merely speculative, they are not in the way of you paying your tax. (2) If you could include every possible liability in the insolvency equation, everyone would argue that they are insolvent.

III.
Problems:

A.
Granny lent Jessica $10,000 to enable J to attend college.  In her will, Granny forgave the $10,000 debt which J owed, noting that the forgiveness was in appreciation of the care which J had provided to her during the last years of her life.  Explain the tax consequences to J.

1.
Gift argument under §102(a) and therefore not income.  Keep in mind that we always want to look at the reason for the forgiveness of the debt.  In a business setting, a gift is highly unlikely.

2.
Compensation of services [§61(a)(1) & §1.61-12(a)], supported by the statement in the will

3.
Income in discharge of indebtedness(argue that J received the money as a loan with the idea that she would have to repay it, ultimately should did not have to repay b/c of the forgiveness

B.
Kevin borrowed $50,000 from the lender to finance purchase of inventory.  B/C of a downturn in the economy, Kevin was forced to liquidate the business after operating it for less than a year.  Under the circumstances, lender agreed to accept a lump sum payment of $20,000 in satisfaction of the $49,000 loan balance.


1.
What result to Kevin, assuming he is solvent?

a.
Kevin could argue that the transaction as a whole was a loss, SO under Kerbaugh there should be no income. 

b.
Kirby would probably be the applicable case b/c Kevin has now freed up assets that had been previously offset by debt

2.
Kevin owes $49,000 in back wages and the employees accepted $20,000 in satisfaction of the back wages.

a.
 §108(e)(2): No income shall be realized from the discharge of indebtedness to the extent that the payment of the liability would have given rise to a deduction (wages).



3.
Debt is unenforceable b/c Kevin is underage:

a.
Liquidated debt: We know that the amount of the debt is $49,000.  Of we are just looking at this Kevin would have income b/c there is no dispute over the amount.

b.
BUT, since Kevin is underage, the debt is unenforceable, and you could argue the unenforceable debt doctrine of Zarin b/c Kevin cannot be liable on the debt


C.
Bill borrowed $75,000 from Judy.  Judy accepted land, which Bill had purchased for $25,000 and had $30,000 fmv, in satisfaction of the debt.  Bill’s liabilities included the $75,000 owed to Judy and $50,000 owed to other parties immediately prior to the transaction.  Bill had also guaranteed repayment of a $25,000 loan his son had taken out, which the son estimates he has a 50/50 chance of repaying.  Other than the tract of land, Bill’s only other asset was a piece of equipment (ab = $70,000 & fmv = $65,000)

1.
Must Bill report any income as a result of the settlement with Judy?

a.
Disposition of the land: ar-ab = $30,000 - $25,000 = $5,000    

i.
[§1001-2(a)(1): the amount realized from a sale or other disposition of property includes the amount of liabilities from which the transferor is discharged as a result of the sale or disposition]
ii.
AR DOES NOT include amounts that are income from the discharge of indebtedness under §61(a)(12)[§1001-2(a)(2)]

b.
With regard to this $5,000 gain, §108 is not applicable 

c.
Income from Discharge: $45,000 forgiveness of debt

i.
Look at §108(a)(1)(B) to determine if the taxpayer is insolvent

ii.
Insolvency: the term insolvent means the excess of liabilities over the fmv of the assets.  Insolvency shall be determined on the basis of the taxpayer’s assets and liabilities immediately before the discharge.  [Bill has liabilities totaling $125,000 and assets totaling $95,000 before discharge.]

iii.
Guaranteed Repayment of son’s loan: 50/50 chance that the son will repay the loan.  According to Merkel, it must be more probable than not that Bill will have to repay the loan (50/50 does not satisfy the test)

iv.
Insolvent: $30,000, Discharge: $45,000(you can only take an exclusion under §108 to the extent that you are insolvent [§108(a)(3)]; SO Bill can only exclude $30,000

v.
Income to Bill: $5,000 from disposition of property + $15,000 Income from discharge of indebtedness = $20,000 income to Bill 

2.
What effect does the settlement have on Bill’s basis in the equipment?


a.
The tax consequence of the exclusion is simply deferred to a later date under this provision.

b.
§108(b)(2): b/c you got the benefit of the exclusion, you will have other negative tax consequences, such as a basis reduction in other property of the taxpayer; for basis reduction go to §1017 [§108(b)(2)(E)]

c.
§1017(a)(1): If an amount is excluded from gross income under §108(a) and under (b)(2)(E), (b)(5), or (c)(1) of section 108, any portion of such amount is to be applied to reduce basis, then such amount shall be applied in the reduction of basis of any property held by the taxpayer

d.
§1017(b): reduction in basis shall not exceed the excess of the (1) aggregate of the bases of the property held by the taxpayer immediately before discharge - (2) the aggregate of the liabilities immediately after the discharge

i.
Example: $70,000 (basis of equipment) - $50,000 (liabilities) = $20,000 reduction in the basis of the equipment

ii.
Equipment Basis = $50,000

3.
Judy’s basis in the land = $30,000 [treat it as if Bill had given her $30,000 cash and she had purchased it]

